EARAROBEEIERT — 2 N— IBISH —F

2016568270 (B) 5EIA#1H

R e AT

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[A~&E£] 17 :1,400,000 § ~ 23 :560,000 37 :350,000 3

4 7% :210,000 B 5 j& : 140,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ilsle| moAHT7 17 3 gz’rgfé-ﬂ: 1:31.3 =11 401 — | 2 | 501 ?gfﬂﬁ (x#)
. (=) INEFE
R:YIRT4 TS5 BT EFEY b © T2 Rs
. o3 | WHRA 1:32.3 5-3-3 | 40.9| - 4 466 | REFNE (KH)
28|11 NFEVX 56.0 5 oo w0 Tul k.
QT RTA N L B AU ® A B S R JayR ™ PN
3lgl1pl 7S —F 3 1;%“8'\'%9& 1:32.8 4-4-4 | 40.8| — 3 | 484 Eggg (G2
. 21/2 _ L H%]
Qi rTFU R L B4 L R AR @12 ) Es55—n
3 .5 4 3 | FEY 1:32.8 622 [41.6]| — 1 548 | =3REEME (/\iF)
4l7l9|¥avFTAXxg 56.0 74 EAHS
IV TA—H— BiALASLY 7#%) S =
N # 3 | EBHR 1:33.1 1-10-7 | 40.5| — 6 452 | EEFE ()
511 |F—AR>TuN 56.0 1172 W
L:aRYIFrIT7—/ B:T7IIZRZX ( ) 42) JT—IWRKT 7 —L
5 K— # o3 | EEHR :33.1 2-5-5 | 41.0 — | 10 | 460 |fEEFRR= (K3H)
6|z|0] Vo %0 (nF) o |fEs=
Zoxam BiAT7Y—FK—h KBRS
RTUYT 2 EF 4 3 ;';%3%% 1:34.2 3-6-6 | 42.1| — 7 440 ﬁiiﬁ (KHH)
. 5 _ _
QL= Gh—b BiHLS1 hoOLY © 8 ity —n
AHLF TSy Y 4 3 53%5*— 1:34.3 9-9-9 [41.7]| — 8 434 an*%g (X3)
o (1/2) -
RiEL/OTO4 BiTrUTL bLF A I e S
To—E— 3 ﬁﬂ%mﬁ 1:34.3 778|421 — | 5 | 443 E;BEE (k#)
= : (745%) i
QT RRA T L BHYAF T —F R ’ @9 | s
U<w—HTI # 3 f_ﬁ"%ﬁﬁ 15858 10-12-12 | 42.3| — | 12 | @17 %32; (K3)
. 5! b
R:TH—T14FAF—Y%> BT ETI<H— © (2 1yHZXF—TI
HEE 1:35.4 12-11-11 [ 42.4| — 11 431 | FEEFEE (KFH)
U_‘LR:E_‘\" d:t 3 54.0 N =
: 7E _ (B) 8774
LT ETA Y A=y B:TO5% ) QP T
I 3 | RElERtL 1:35.9 8-8-10 |43.5| — 9 546 | SBITAZ ()VHE)
INIVT o 56.0 (2 1/2) AL
QN-ETTr— BiAAHT KTy 0 amas mis
@ 1—F—@&BIEf
13—7—
Aol=5r= 6,10,4,12,11,9,7,3,2,8,1,5
G§a=7r= 6,9,11,12,10,4,7,3,2,1,5,8
41 —F— 6,9,11,12,10,4,1,7,2,3,5,8
[ RN
B OB 6 360M 714K 6-11 690 e & 5-8 700/ &R 6-11-12 3,620
% B 6 150 6-12 300/ | | # B 5-8 1,390 | | 3:&E [ 6-11-12 17,970
1 350M 11-12 980M B E 6-11 2,800
12 180M B H 6-11 4,110

ABICOVWTRDTEEERROODE. TR LIV,




